== A
N = 0] &F AF S & AN A
20178 = 20 A LEHSH S X &2t
SA: 2X™ 2
Ha: =X I|UEM
CHRl: A2 XX (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
S XA 2 547,624,967 476,635,368 70,989,599
= 340,732,750
Xl 7,521,000
Jl 3,473,289
= 195,897,928
E=PNPIR S 12,672,912 11,352,177 1,320,735
= 6,137,677
J| 778,700
& 5,756,535
ALS 2 XX & 12,672,912 11,352,177 1,320,735
= 6,137,677
J| 778,700
o 5,756,535
SEXNS20F dR=X 69,100 78,600 A9,500
201 et | 27,000 27,000 0
01 AR 22l ] 27,000 27,000 0
OgBrA AL ZH| 27,000
202 04| 4,800 4,800 0
01 2L HI 4,800 4,800 0
OAZEXNEM 2K 4,800
203 € R =& 37,300 46,800 A 9,500
03 AIEH =X H 2 F XY 37,300 46,800 A9,500
OMISXNER =& 37,300
At 22X AL 2435 X 370,000 365,000 5,000
307 QI2t0| & 370,000 365,000 5,000
10 Al EXANEEHESIGH EX 230,000 225,000 5,000
O=E=EM3EXNEOT 29 230,000
11T A EXAIEEX 140,000 140,000 0
OAgEXNZ2E223 X 90,000
OZdgzcwy 29 40,000
OFS=EMIEXNA d2de A5 = 10,000
ANSIE2 X AP HES 10,000 10,000 0
307 2izto| A 10,000 10,000 0
11T AISIEXAIEEX 10,000 10,000 0
OS=UZAIS S X HAEF 10,000
AMNIIEIA BEZSWNSE XS 48,000 48,000 0
307 QI2t0| ™ 48,000 48,000 0
11T A EXAIEEX 48,000 48,000 0
OAMZIEXNAI E4NE X 48,000
MR AISXNSEH HEG 5,000 5,000 0




2N
D EXolex s

el

X ZH
S =

EPARSE )

A2l S XX &

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 5,000 5,000 0
03 A2 G| 5,000 5,000 0
OAlR A EXNZSRE HES X 5,000
A £2X 0 Sols =A 8,000 8,000 0
308 XX GHHM SO0l & 8,000 8,000 0]
01 AIKISHHENEXZ 8,000 8,000 0
OAZI 2 X2 Y JIEsHA 8,000
AN SR AE MEX S 120,000 120,000 0
301 et A= 120,000 120,000 0
01 M EXEE 45612 120,000 120,000 0]
OMISXAIE MHEX A2 120,000
AMSISXAIESAMA Y & 277,920 204,500 73,420
307 212t0| & 277,920 204,500 73,420
10 M SXNANEEHESIHEX 277,920 204,500 73,420
OMIEXAIE SAXN WRSE X 277,920
AT AISIEXAIE SAA L NS 2,326,000 2,461,595 A 135,595
308 XX G SO0l A 2,326,000 2,461,595 A 135,595
01 AIXSHMEMNEX= 2,326,000 2,461,595 A 135,595
OANT AL EXAIEESAIR RS 2,326,000
Mel29E2XNANE 29X 73,200 69, 360 3,840
308 XHXIGH SO0l & 73,200 69, 360 3,840
01 IXHHNIMNEXS 73,200 69, 360 3,840
OS2I EINAILE 2 XA 73,200
L=0lAlE 24| 4,110,706 4,064,751 45,955
= 2,877,494
= 1,233,212
308 MXISHMSOIA 4,110,706 3,890, 196 220,510
= 2,877,494
= 1,233,212
01 AIXSHMENEXZ 4,110,706 3,890, 196 220,510
L=0AlE 2gH| A& 4,110,706
= 2,877,494
== 1,233,212
L=0AIE JDIsEY 5,900 0 5,900
= 3,933
& 1,967
403 XX SHHS K20 & 5,900 0 5,900
= 3,933
& 1,967
01 XIS A2 X 5,900 0 5,900




2N
X ZH -
L= B

el

SXE3
SAolgtxd
Atal = XX &

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2

OkL=2A4 Jse2d 5,900
= 3,933
< 1,967

E=00 Al EOL A 3,405 0 3,405

201 Let2d] 3,405 0 3,405

01 At 22l 3,405 0 3,405
OL=Q A4 EItM A 3,405

SE At 2l A o1 HEl K& 886,977 3,280,771 22,393,794
= 682,290
< 204,687

308 XX EHHSOIA 886,977 3,280,771 22,393,794
2 682,290
< 204,687

01 AXSGHBLELS 886,977 3,280,771 22,393,794
OSE At 2telAb eldl XI& 886,977
= 682,290
= 204,687

AT SE A 2tel XI& 99,000 0 99,000
= 82,500
S 16,500

308 XXM SO0 A 99,000 0 99,000
2 82,500
< 16,500

01 HIXNHHNBNEES 99,000 0 99,000
OAZ SE At 2el X 99,000
2 82,500
= 16,500

Sts XEE SEMHA XA 564,144 0 564,144
2 540,960
< 23,184

308 XXM SOIA 564,144 0 564,144
2 540,960
< 23,184

01 IXNHHBANEES 564,144 0 564,144
OsSd8s ¥&d sSEAMdA XA 564,144
= 540,960
< 23,184

HOtdt= SXNAMHA HEXH 1,012,310 0 1,012,310
J| 778,700
< 233,610

403 A X EHHS 20l A 1,012,310 0 1,012,310
| 778,700
< 233,610

01 X EHHMAZLE L 1,012,310 0 1,012,310
OX0tdte SXNAMEIA IHEXE 1,012,310




SH SNEHY
Ba: =0Tl

o2l M EXXH (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2

Il 778,700
= 233,610

=S EE JdEHNH 2= 492,750 0 492,750
= 472,500
< 20,250

308 XXM S0 A 492,750 0 492,750
= 472,500
< 20,250

01 AXNSHBLAEES 492,750 0 492,750
o= = dEHAH 2= 492,750
= 472,500
< 20,250

20159 = 2XGEs = 525,600 0 525,600
= 504,000
< 21,600

308 XXIEtH S0 A 525,600 0 525,600
= 504,000
= 21,600

01 IXNHHBANEES 525,600 0 525,600
020158 &8s SXoEs 25 525,600
= 504,000
< 21,600

2016 S8s =SXNdES 2= 854,100 0 854,100
= 819,000
< 35,100

308 Xt XIEHH SOl A 854,100 0 854,100
= 819,000
= 35,100

01 HXNHHBHELS 854,100 0 854,100
o216 8= =XddEs 25 854,100
= 819,000
< 35,100

20174 58 s =XdlEs 2= 153,300 0 153,300
= 147,000
< 6,300

308 XXM SO0l 153,300 0 153,300
= 147,000
< 6,300

01 HIXNHHBNEES 153,300 0 153,300
O2017& 58S =SXNdES 25 153,300
= 147,000
< 6,300

SE=ECESMIENNLEH 2SR 547,000 450,000 97,000

307 21201 A 547,000 450,000 97,000

05 RIZIRI & 3 547,000 450,000 97,000




2N

EPARSE )

dM: EXDIgtx 4
&2 MISXXE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OsE=SE ESMI=XNHEH 2 547,000
MBI EXXAHS XA 12,000 9,000 3,000
= 8,000
< 4,000
308 XXM SOIA 12,000 9,000 3,000
= 8,000
< 4,000
01 AXHHILEES 12,000 9,000 3,000
OA=I2ZE2AM NS 12,000
= 8,000
< 4,000
8= MaA=SXA M= &It 6,000 6,000 0
307 21201 A 6,000 6,000 0
11T AL SXAEE = 6,000 6,000 0
O &= AMA=SXA MESUH &t 6,000
M =X NE - &8 ¥ s FAHAY 4,000 4,000 0
202 O4dl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
OAMsl=Xge A& - 38 & s FAHY 4,000
M XY - AlE WS 8,500 7,600 900
201 L4l 8,500 7,600 900
01 At 2t 2l 8,500 7,600 900
OAMEISXIge - Al u=s 8,500
ASI X MEAE HHAAXR 50,000 50,000 0
307 21201 A 50,000 50,000 0
11T MISRASEEX 50,000 50,000 0
OAMEISX dEAL " XA 50,000
HATRSHEEAN B2&0 S3HA 30,000 0 30,000
401 AIEHI L 20HYI 30,000 0 30,000
01 A& Bl 30,000 0 30,000
O&AlF=S BIESA B2&810 S#A3NMA 30,000
Ots=XMUIAX A 24,132,891 24,012,011 120,880
= 10,326,246
J| 2,694,589
< 11,112,056
NAotsES AR 24,132,891 24,012,011 120,880
= 10,326,246
J| 2,694,589
< 11,112,056
OtsXHEXdEZNSH2A 40,000 40,000 0




S 2 XH
HHM: OlSEXAMHIAXR

?2: XNASESAE XA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 40,000 40,000 0
11T M SRASEEX 40,000 40,000 0
OOSAHENAZZIOSBE2Y 40,000
OtsSEXAIE S ALAA == 25,000 25,000 0
307 eIzl & 25,000 25,000 0
11T MISXAS EX 25,000 25,000 0
OOS=XANEEAR QA 24 & AZF 25,000
OtsHdsd-8s & HAXRA 54,500 54,500 0
307 21201 A 54,500 54,500 0
11T MISXASEEX 54,500 54,500 0
O0eolg &At 20,000
SEX 0ts 2tgo & At 4,500
O0s=EXAE =20 &8 20,000
OO0ts=XAE BULURU =X 10,000
ANEO0tsdH2E XA 7,300,617 7,227,171 73,446
= 5,615,860
< 1,684,757
308 XXM SOl A 7,300,617 7,227,171 73,446
= 5,615,860
< 1,684,757
01 IXNHHBNEES 7,300,617 7,227,171 73,446
OXgotsdH 22X 7,300,617
= 5,615,860
< 1,684,757
NEotsdH 2SR (2L FIHAF) 48,960 0 48,960
308 XXIEHH SOl A 48,960 0 48,960
01 AXHHIYEES 48,960 0 48,960
OXdotsHE 2EXNA(S2LH FIX) 48,960
Ot= =Xl 1) At 1,432,704 1,441,440 A 8,736
= 1,102,080
< 330,624
308 MtXIEHMSOIH 1,432,704 1,441,440 A 8,736
= 1,102,080
< 330,624
01 HXNHHNBHEES 1,432,704 1,441,440 A 8,736
OOtS =X WAH(QI4H]) XI& 1,432,704
= 1,102,080
< 330,624
AN0tsdlH SE¥3=2EXN3HE 24 169,260 169, 260 0
= 84,630
< 84,630
307 glz2tol & 169,260 169, 260 0




P ESANE AL
PSS XAMEIAXE
P NGOt SESAE XA

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 84.630
& 84,630

11T A EXAIEEX 169,260 169, 260 0
OX<E0tsdH SE3SsSZXJ{H 29 169,260
= 84,630
= 84,630

NEOtSHEHZE I 35,336 34,560 776
= 17,668
=} 17,668

307 QI2t0| & 35,336 34,560 776
= 17,668
=} 17,668

05 QIZtREZ 35,336 34,560 776
OX<E0otsHye BOHs 35,336
= 17,668
& 17,668

B SRRl N R 708,001 686, 123 21,878
J| 627,343
= 80,658

308 AXIEHSOIA 708,001 686, 123 21,878
J| 627,343
= 80,658

01 AIXSHMENMNEX= 708,001 686, 123 21,878
@R R=DNE 35,271
J| 31,253
= 4,018
OXMOIsS YA EX= 37,457
J| 33,190
= 4,267
OYdY=g4D|2t DX 8,353
J| 7,401
= 952
OgAdots =2 A 626,920
J| 555,499
& 71,421

ES0ls 08 29 A& 741,470 659, 359 82,111
J| 511,358
& 230,112

308 XX SHHSOIH 741,470 659, 359 82,111
J| 511,358
o 230,112

01 AIXSHMEMNEX= 741,470 659, 359 82,111
ORQESOtE0EE 29X 741,470
J| 511,358
= 230,112

OlESAA JDIsE2 529,750 79,288 450,462




2N
X ZH -
L= B

el

SXE3
Ot =X MEIAXA
NEotsES M RA

SA - BB B () - MM - BES Ol &t o San HmEET
Jl 407,500
< 122,250
403 X SHHS =0l & 529,750 79,288 450,462
J| 407,500
< 122,250
01 XM A2E X 529,750 79,288 450,462
OO0tsAlE JIsEd 529,750
J| 407,500
< 122,250
FAHNSO0tS S Atcll2el 2,970,000 3,300,000 A 330,000
= 2,970,000
308 XtXIEHH SOl A 2,970,000 3,300,000 A 330,000
= 2,970,000
01 AXHHILEES 2,970,000 3,300,000 A330,000
OFAAHEOS S Atcll2el 2,970,000
= 2,970,000
JIIEREOS dolEEE XA 31,554 31,200 354
= 22,088
< 9,466
201 £B-2%H| 31,554 31,200 354
= 22,088
< 9,466
02 =24l 31,554 31,200 354
OJtZ 2 E0lEs doi28z X& 31,554
= 22,088
< 9,466
Ots 2 & X3 A & 574,000 529,855 44,145
= 508,600
= 65,400
308 XXM SO0 A 574,000 529,855 44,145
= 508,600
= 65,400
01 HIXNHHBNEES 574,000 529,855 44,145
OO0ts< & X2 H & 574,000
= 508,600
< 65,400
IIERAEXNRAEH 29 462,191 349,182 113,009
307 21201 A 462,191 349,182 113,009
05 RIZt2IEt = 462,191 349,182 113,009
OJNEAEXNAEH 29 462,191
ZoI|2 2Y 215,707 215,707 0
307 gl2tol & 215,707 215,707 0
e NEEEEETEES 215,707 215,707 0
ozdl|z22Y 215,707




2N
P OtS=EXAMHIAX

el

X ZH
S =

EPARSE )

NEotsES M RA

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OtsEsdEll& 29 1,662,144 1,520,568 141,576
| 831,072
< 831,072
307 gl2tol & 1,662,144 1,520,568 141,576
J| 831,072
= 831,072
05 BIZHRI & 3 1,662,144 1,520,568 141,576
OOtsEsd2l&a 22 1,662,144
| 831,072
< 831,072
Stiimloiots&2H 2L X & 460,108 440,118 19,990
| 317,316
< 142,792
308 XXM S0l A 460,108 440,118 19,990
| 317,316
< 142,792
01 IXNHHBANEES 460,108 440,118 19,990
Osuoiotsde 2 XA 460,108
J| 317,316
< 142,792
Ots=XAE 29 456,737 418,669 38,068
308 XX EHH SOl A 456,737 418,669 38,068
01 AXNHHBANEES 456,737 418,669 38,068
O0ts=EXAE 29 456,737
QAN 22H 1,000 1,000 0
308 XXX SO0 1,000 1,000 0
01 HXNHHNBHELS 1,000 1,000 0
ogalzazdg 1,000
ZENEOISES 98,280 124,740 N 26,460
308 XXM S0 A 98,280 124,740 N 26,460
01 AXNSHHBLAEES 98,280 124,740 A 26,460
OZglyots:2s 98,280
2EAEHIE 2 ANEEAOES & XY X 94,700 78,071 16,629
308 XXM SOIA 94,700 78,071 16,629
01 IXNHHBANEES 94,700 78,071 16,629
OAEAUHIIE & ANEEAOsS NHEXE 94,700
ors24 S2UXNA(SIT) 4,940,000 5,320,000 A.380,000
308 XtXIEHHSOIA 4,940,000 5,320,000 A.380,000
01 X HHBLEES 4,940,000 5,320,000 A.380,000
O0ts3AEUXE(8I5) 4,940,000
Otss=SA K& 662,080 717,907 A b5,827




2N
X ZH -
L= B

el

SXE3
Ot =X MEIAXA
NEotsES M RA

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 662,080 717,907 N bB5,827
01 AIXSHMENMNEX= 662,080 717,907 N bB5,827
Ootsz2a XA 662,080
AEAEHIIE XNH 461 1,434 AN973
308 XX GHHM SO0l & 461 1,434 AN973
01 AIKISHHENEXZ 461 1,434 N973
OadAHIIE X 461
I8 AE A=A 20,189 16,996 3,193
308 AMXISHMSOIA 20,189 16,996 3,193
01 X HHIMNEEXTZ 20,189 16,996 3,193
Odfe d=X& 20,189
AMEOIS&EIOM X 31,382 41,680 N 10,298
308 AMXIESHMSOIA 31,382 41,680 N 10,298
01 AIXSHMEMNEXZ 31,382 41,680 A 10,298
OANMEOSEHIAN X 31,382
QI JIERAE AMelXS KA 7,600 4,703 2,897
= 5,320
= 2,280
307 2iz2to| & 7,600 4,703 2,897
= 5,320
= 2,280
11T AISIEXAIEEX 7,600 4,703 2,897
OgINAEAEOIES Melxlzs XN 7,600
= 5,320
o= 2,280
XHOtSHE ESAN HRMAEH XK 198,240 201,120 A 2,880
308 XNXISHHM SO0l & 198,240 201,120 AN 2,880
01 IXHHIMNEXZ 198,240 201,120 A 2,880
OX<E0otsHEH SAMAXN d H&d K& 198,240
RESOISIdEE SMAMRMAE X 25,920 20,160 5,760
308 AMXISHMSOIA 25,920 20, 160 5,760
01 AIXSHMENEXZ 25,920 20,160 5,760
ORESOISIEE SAMAL ARMEH X& 25,920
KNEOotSHEH ASEIHA 60,000 80,000 A 20,000
403 XX SHHS K20 & 60,000 80,000 A 20,000
01 AIXISHHMAS2E X 60,000 80,000 A 20,000
OX<E0otsHEH AN 60,000
NEOotsSHE HMNsSS S0tsS el 30,000 30,000 0
307 2izto| & 30,000 30,000 0




2N

EPARSE )

M Ots=2XNAMEAXR
?2: XNASESAE XA (&)
SA - BB B () - MM - BES Ol &t o San HmEET

11T M SRASE EX 30,000 30,000 0
OXSotsdH oSS &ots thal 30,000

St OloiolsS XA=BE 20,000 20,000 0

307 glz2tol & 20,000 20,000 0

11T MISRASEX 20,000 20,000 0
OstthLloiols XARBZ 20,000

Otssfuy s - 28 N& 25,000 25,000 0

307 21201 A 25,000 25,000 0

11T MISXASEEX 25,000 25,000 0
Oo0ts&ttiuley ne ¥ EE2XE 25,000

=Jt2&22el 1,297,824 565,644 732,180

SEHLT HSAIXH 1,297,824 565,644 732,180

EE20 RFA 15,000 20,000 25,000

203 YR =&t 15,000 20,000 A5,000

03 Al =AY R =&Y 15,000 20,000 25,000
OB=20 gR2x2 15,000

SEE=UHAY & BEEIISHAA 20,000 20,000 0

307 gl2tol & 20,000 20,000 0

11T M ZXALSE EX 20,000 20,000 0
OZFZEEEUY AN E EEIS A 20,000

SER3A =8 XA 31,200 30,950 250

308 XXM SO0l A 31,200 30,950 250

01 IXNHHBNEES 31,200 30,950 250
SER3A d=H N 31,200

EEHH XA 495,624 438,694 56,930

307 21201 A 334,944 321,894 13,050

10 ALSISXAIEEE2EHEX 34,506 26,506 8,000
OsHHd 2gdl XN& 34,506

11T M SXAISE EX 300,438 295,388 5,050
OE=HH &AM X 225,438
OsHHd s=2=dX& 40,000
Os=Z74gd ns & AoUs 15,000
OEEREN AZ2H L HASA fI2 13,000
OoMgzZelae JIgA 7,000

402 RI2EX=20l A 160,680 66,800 93,880

01 2I2E 2 A B (KM ) 160,680 66,800 93,880
OS¢t JIsEZAd 160,680
—Z=23 2 BEx3A 100,000




2AH: SRS
N 2)2EB
ool BEHAL MUK (S &2)
L=
SA - FE - BI(EA) - NRAY - By 0l &t San DS
-d22Z012es HIIHE 2 400
- &AL BIIHE S 7Y 14,150
- SgRF3ia JIsEL 44,630
- JDHMELE ARIID 2 1,500
SER3N N 51,000 51,000 0
301 LB A F 51,000 51,000 0
01 AR 2Z A 53 51,000 51,000 0
O=gR3A A235 ¢ 51,000
EMHoI4LEHM JE2 AE 685,000 0 685,000
403 UHXSHHSA=0l& 685,000 0 685,000
01 HXSHMA=E X 685,000 0 685,000
OEMolad&dd Jgat A 685,000
S0l J=ME oty 169,216,598 160,084,456 9,132,142
= 146,136,295
Xl 7,521,000
=) 15,559,303
HASE MERE 148,193,435 137,645,272 10,548, 163
= 134,617,000
=) 13,576,435
Ja2=2XK& At 3,500,000 3,500,000 0
= 3,500,000
308 XX EHSOIA 3,500,000 3,500,000 0
= 3,500,000
01 HIXNHHBNEES 3,500,000 3,500,000 0
O =KX A 3,500,000
= 3,500,000
FRI=EAX 2,313,000 3,653,000 A 1,340,000
= 2,313,000
308 XXM SOIA 2,313,000 3,653,000 A 1,340,000
= 2,313,000
01 AXHHILEES 2,313,000 3,653,000 A 1,340,000
OJIz=g i &3&e & 1,767,000
= 1,767,000
OxdRASs = X 546,000
= 546,000
MHASH KA 141,351,122 129,646,272 11,704,850
= 127,990,000
=) 13,361,122
308 XXM SO0 A 141,351,122 129,646,272 11,704,850
= 127,990,000
=) 13,361,122
01 AXHHBSEES 141,351,122 129,646,272 11,704,850




2N
X ZH -
L= B
el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OMASH 141,351,122
= 127,990,000
< 13,361,122
HAZHSH XA 861,607 846,000 15,607
= 814,000
= 47,607
308 XXM SO0l A 861,607 846,000 15,607
= 814,000
< 47,607
01 IXNHHBANEES 861,607 846,000 15,607
Ot M= X& 861,607
= 814,000
< 47,607
WEsH A& 167,706 0 167,706
308 XX EHHSOIA 167,706 0 167,706
08 w=EJl20tst: 167,706 0 167,706
OussSWAA 167,706
HASE ANHENE K& 21,023,163 22,439,184 21,416,021
= 11,519,295
Xl 7,521,000
< 1,982,868
NEIZZ2AS 7,331,743 8,331,042 A 999,299
= 6,882,000
< 449,743
308 XXM S0 A 7,331,743 8,331,042 A 999,299
= 6,882,000
< 449,743
01 AXSGHBLAEES 7,331,743 8,331,042 A 999,299
OXgz2z Atg 7,331,743
= 6,882,000
< 449,743
NEXedeH298 X2 1,933,000 1,836,016 96,984
= 1,933,000
308 XXl S0IA 1,933,000 1,836,016 96,984
= 1,933,000
01 IXNHHBMNEES 1,933,000 1,836,016 96,984
OXNgXadyd 234l 1,933,000
= 1,933,000
ANEitady 483 X 96,000 96,000 0
308 KXIEHSO0IA 96,000 96,000 0
01 HXESHZARES 96,000 96,000 0
OXEAY 243 =7 AHl X2 96,000
Z2ANedy 294 N& 496,457 482,500 13,957




2N
X ZH -
L= B

el

=X F & D
Elal jl%gil» [e] @S]

NASS MHaidy X2

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 347,520
< 148,937
307 glz2tol & 496,457 482,500 13,957
= 347,520
< 148,937
10 M SXNANEHI2IHE=X 496,457 482,500 13,957
OZgxady 294l 496,457
2 347,520
< 148,937
ZATEHEH ALSHl XA 20,000 20,000 0
307 21201 A 20,000 20,000 0
11 AISI S XA E X 20,000 20,000 0
OZAX&HEH A 20,000
ANECE S 14,000 14,000 0
307 21201 A 14,000 14,000 0
11 AMSSIAIEE S 14,000 14,000 0
OXt&cHa sl 14,000
YIS SHEAMY X 2,421,673 1,985,834 435,839
= 2,117,114
< 304,559
307 glz2tol & 1,648,143 1,217,549 430,594
= 1,343,584
< 304,559
10 M3 ZXNANEHIS2IHE=S 68,406 66,414 1,992
O3 LINSSEAMG(II) =8I 222l 68,406
= 47,884
< 20,522
1A S XA E X 1,579,737 1,151,135 428,602
OX&e A sILINSSEAS(I) X 1,579,737
= 1,295,700
= 284,037
308 XXM S0 A 773,530 768,285 5,245
= 773,530
01 AXNSGHBLEES 773,530 768,285 5,245
O3 LIIsSEAMA(1) XA 773,530
= 773,530
HeIIssSEAE XA 239,661 225,882 13,779
= 239,661
308 XXIEtH S0l A 239,661 225,882 13,779
= 239,661
01 IXNHHBANEES 239,661 225,882 13,779
OIS EAY XI& 239,661
= 239,661




SM: =2XNEHY
HE: 0 J|2ME X

gelr NASES NHEE X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

JbARZEE 22t At AFEHl K& 601,179 721,189 A 120,010
X 540,000
< 61,179

308 AHAIEHHSOIA 601,179 721,189 A~ 120,010
Xl 540,000
< 61,179

01 HIXNHHNBHELS 601,179 721,189 A 120,010
OJIArZHE ZE2elAb AHY 601,179
Xl 540,000
< 61,179

NS AS MBI ASERALE =& 7,869,450 8,726,721 A 857,271
Xl 6,981,000
< 888,450

202 044l 4,286 5,000 AT14
Xl 3,000
< 1,286

01 = LH &4 1l 4,286 5,000 AT14
OX A MBI A SEXHALY =& O] 4,286
Xl 3,000
< 1,286

307 21201 A 210,000 225,000 A 15,000
Xl 147,000
< 63,000

11T ALS S XAEE = 210,000 225,000 A 15,000
OXNZ A MHIA R 29 210,000
Xl 147,000
< 63,000

308 XX A S0l & 7,655,164 8,496,721 841,557
X 6,831,000
< 824,164

01 IXNHHBNEES 7,655,164 8,496,721 A 841,557
OXNZAS I A EXALS 7,655,164
X 6,831,000
< 824,164

EFAMUA X 310,503,023 248,683, 133 61,819,890
= 178,132,532
< 132,370,491

Chst BSAHIA =0 310,508,023 248,683,133 61,819,890
= 178,132,532
= 132,370,491

2SO QAY X 39,360,095 38,828,694 531,401
= 27,488,210
< 11,871,885

308 XXIEHH SOl A 39,360,095 38,138,516 1,221,579
= 27,488,210
< 11,871,885
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|




SN =SXHHD
B BRAUA X

Sl CHs 2SAMHIA =) (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 39,360,095 38,138,516 1,221,579
SN A XA 39,360,095
= 27,488,210
< 11,871,885
PSR HRME XS (MDA 670,948 0 670,948
=2 335,474
L3 335,474
307 21201 A 670,948 0 670,948
= 335,474
< 335,474
11T MISXASEX 670,948 0 670,948
OO w2 At 24| 670,948
2 335,474
S 335,474
E0HI HRMHH KA 12,741,591 0 12,741,591
= 9,118,128
< 3,623,463
308 MtXIEHMSOIH 12,741,591 0 12,741,591
= 9,118,128
< 3,623,463
01 HXNHHNBHELS 12,741,591 0 12,741,591
OBX WA XI& 2,297,890
= 1,665,117
= 632,773
OuAZ2S &3H&dl X& 7,789,182
= 5,586,955
< 2,202,227
Os& ESLA EE22E 2,654,519
= 1,866,056
< 788,463
Ol oI XI& 896,752 8,110,761 AT,214,009
= 628,895
= 267,857
308 XAXIEHHSOIA 896,752 8,110,761 AT,214,009
= 628,895
< 267,857
01 IXNHHBNEES 896,752 8,110,761 AT,214,009
O w2t 368,244
= 264,983
< 103,261
Ox&2gl 360,317
= 246,812
< 113,505
Os0E 4N gelogold X 168,191
= 117,100
< 51,091




2N
X ZH -
L= B

el

=X F & D
EEAMHA X
st SgAMHIA 2

SA - BB B () - MM - BES Ol &t o San HmEET
HelolEIIsEd 563,663 585,750 N 22,087
= 375,775
< 187,888
403 UHXISHHSA=0l& 563,663 585,750 N 22,087
= 375,775
< 187,888
01 HXESHMA=LE L 563,663 585,750 N 22,087
Oogold Jised 563,663
= 375,775
< 187,888
dRrotEs=2 X 118,616,172 114,604,086 4,012,086
= 98,710,000
=) 19,906,172
308 XXM SO A 118,616,172 114,604,086 4,012,086
= 98,710,000
=) 19,906,172
01 IXNHHBANEES 118,616,172 114,604,086 4,012,086
Odxrot 22 XA 118,616,172
= 98,710,000
< 19,906,172
gus 252 A& 20,078 20,081 A3
308 XX EHH SOl A 20,078 20,081 A3
01 X HHILEES 20,078 20,081 A3
ogn=s 282 XA 20,078
FoltE 29 83,478,240 29,700,000 53,778,240
308 A EHHSOIA 83,478,240 29,700,000 53,778,240
01 HXNHHNBHELS 83,478,240 29,700,000 53,778,240
OFclutd 29 83,478,240
ItELgs2 N 46,480,507 46,765,125 A 284,618
= 38,662,000
< 7,818,507
308 XXM SO0l A 46,480,507 46,765,125 A 284,618
= 38,662,000
< 7,818,507
01 IXNHHBNEES 46,480,507 46,765,125 A 284,618
Olggs=9 & 46,480,507
= 38,662,000
< 7,818,507
SESCROSENHEH 24 423,126 428,384 A5,258
= 211,563
< 211,563
307 2I2t0l & 423,126 418,384 4,742
= 211,563
< 211,563




SN =SXHHD
B BRAUA X

Sl CHs 2SAMHIA =) (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
10 M3 SAANEEHESIGHEX 317,200 312,000 5,200
OSHECSOISEANJANYH 29 317,200
= 158,600
o= 158,600
11T A EXAIEEX 105,926 106,384 A 458
Qadd2: HiX 34,826
= 17,413
& 17,413
OJIE A= AH 71,100
= 35,550
o 35,550
IEUF A (Al 2) 10,000 0 10,000
= 10,000
308 XNXIGHHM SO0l & 10,000 0 10,000
= 10,000
01 IXHHIMNEXTS 10,000 0 10,000
ONEAESAIS (Al.2) 10,000
= 10,000
HelO|& RS XA 67,532 67,532 0
= 33,766
= 33,766
307 212t0| & 67,532 67,532 0
= 33,766
o 33,766
05 QIZtR E S 67,532 67,532 0
O oM NeAdASXA 67,532
= 33,766
& 33,766
BEENANAAL 10,000 10,000 0
307 2iz2to| & 10,000 10,000 0
11T AISIEXAIEEX 10,000 10,000 0
ORSIEAAS 10,000
SO = ¥ dZH)eY FXNE =3 2A 20,000 20,000 0
307 QI2t0| & 20,000 20,000 0
11T A EXAIEEX 20,000 20,000 0
ORO0)] = ¢ =802 FXNE =33
o 20,000
BR0I9 Y AKX 15,000 9,000 6,000
307 2iz2to| A 15,000 9,000 6,000
11T AISIEXAIEEX 15,000 9,000 6,000
OB Y AKX 15,000
BSNMNIANHSLMAY X 2,998,044 2,926,192 71,852




AN SXEHD
M EMHA X
S Oest ESMHA =

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 2,998,044 2,926,192 71,852
01 HIXNHHBHNEELES 2,998,044 2,926,192 71,852
OEsSNEI ML XA 2,998,044
BN BSANLE W2 X 8,240 11,640 A 3,400
308 XXM SO0l A 8,240 11,640 A 3,400
01 IXNHHBNEES 8,240 11,640 A 3,400
OBIAUBANE W =3 XN 8,240
EIIIEAE EZLdl XA 52,800 83,200 230,400
308 XtXIEHHSOIA 52,800 83,200 230,400
01 X HHILEES 52,800 83,200 30,400
OBIISAIE &FHLdl XA 52,800
00828 EROINSX&A 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T ALS S XA E X 10,000 10,000 0
O0gold tastgdRrot € AL4E=E XA 10,000
020l Botels ALY 5,000 10,000 A5,000
307 glz2tol & 5,000 10,000 A5,000
11T M SRAISE EX 5,000 10,000 A5,000
ONE 0l EItls ALY 5,000
=38 Hgoly 29 3,174,500 2,654,389 520, 111
= 2,274,000
< 900,500
308 XXM SOl A 3,174,500 2,654,389 520, 111
= 2,274,000
< 900,500
01 AXHHBISEES 3,174,500 2,654,389 520, 111
Os3g80eosd 29 3,174,500
= 2,274,000
< 900,500
SSEHHOESZ MU XA 8,400 44,400 36,000
403 A X EHHS =0l A 8,400 44,400 236,000
01 X EHHMA=LE L 8,400 44,400 236,000
OZ33g0eolE &3diad X 8,400
ZOHOIE 20 E 0l 283 Add XA 63,000 63,000 0
308 XX EHSOIA 63,000 63,000 0
01 HIXNHHBMNEELS 63,000 63,000 0
OZOOIM20E0lE 2&H HH X2 63,000
Helold & JtE ST AEHZ ALY 40,000 40,000 0
307 glz2+ol & 40,000 40,000 0




SN =SXHHD
B BRAUA X

Sl CHs 2SAMHIA =) (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 40,000 40,000 0
oogod ¢ Jtd 40,000
Heold MR3H ns ¢ 5,000 10,000 A5,000
307 glz2tol & 5,000 10,000 A5,000
11T MISRASEX 5,000 10,000 A5,000
O old MHPH WS 5,000
Hel ot BHZSHEXA 52,000 52,000 0
308 XX EHH SOl A 52,000 52,000 0
01 AXHHILEES 52,000 52,000 0
Ooegold et 3N 3 52,000
EF AU AKX 10,000 10,000 0
201 £B-2dH| 10,000 10,000 0
01 At 22l 10,000 10,000 0
OBSAY CHUH X = 10,000
HEl 0l R2L2LIHEH2Y 70,000 51,450 18,550
= 35,000
< 35,000
307 glz2+ol & 70,000 0 70,000
= 35,000
< 35,000
11T MISXASEX 70,000 0 70,000
oogols 2224 2 70,000
= 35,000
< 35,000
ESUEY FIZ2EFEX 228,753 187,059 41,694
308 XX EHH SOl A 228,753 187,059 41,694
01 AXHHILEES 228,753 187,059 41,694
OEsuwAa FJ|2 228,753
NAINMSEHESI 2 (ZAE 359,582 384,757 A25,175
= 239,721
< 119,861
308 MtXIEHMSOIH 359,582 369,757 A 10,175
= 239,721
< 119,861
01 HIXNHHNBHNEELS 359,582 369,757 A 10,175
OANAXESEHEST 359,582
= 239,721
< 119,861
NLAXUNSEHESIA(NBEX) 15,000 0 15,000
= 10,000
< 5,000
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2N

EPARSE )

HM: E=HHA XS
el CIE ERAHIA 2 CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
403 XX SHHS K20 & 15,000 0 15,000
= 10,000
& 5,000
01 AIXISHHMA2E X 15,000 0 15,000
OANZIEEESNK (A2EX) 15,000
= 10,000
=} 5,000
SHECFOSEXNJLAEH AIEUHAH 2 9,000 0 9,000
307 gizto| A 9,000 0 9,000
02 AI2tAAMAIE E =X 9,000 0 9,000
OZZ=2ETS0IESXHHEH Al HH2 9,000
Helol& & ARG 20,000 0 20,000
307 QI2t0| ™ 20,000 0 20,000
04 CIZ2tSHALALS B = 20,000 0 20,000
OEoI & A& ARSF 20,000
HESHAALH (EXNEH 1Y) 86,071 101,179 A 15,108
JlE&ddl 86,071 101,179 A 15,108
|23l 86,071 101,179 A 15,108
201 et | 20,401 23,949 A 3,548
01 AR 22l ] 20,401 23,949 N 3,548
OJIEgx=2l| 8,326
OJl22&| 12,075
202 044l 43,470 51,030 ANT,560
01 2L Y| 43,470 51,030 AT,560
o220yl 43,470
203 R F & 22,200 22,200 0
01 JI22HYRFF | 6,600 6,600 0
OBAH=ZEXN=% 6,600
04 EASHEIRFEH| 15,600 15,600 0
O=X& 21 4,200
Ol 2012t 4,200
OB2A ™z 4,200
OAMEQIAZE LM I} 3,000
MEEs 29,715,648 31,836,768 N2,121,120
WEAHAXI= 29,715,648 31,836,768 N2,121,120
LHEAHH K= 29,715,648 31,836,768 N2,121,120
701 JIEIS HEEHEZ 29,715,648 30,916,232 A 1,200,584
01 JIEtS HEE2 29,715,648 30,916,232 N 1,200,584
Oz2ELE3AH 85 29,715,648




